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#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 154
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 HEELY 0.069
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 4.12680 0.142 0.142
9| 185 =x< 195 2.71306 0.094 0.094
8| 175 =x< 185 262170 0.090 0.090
7| 165 <x< 175 2.53033 0.087 0.087
6| 155 =x< 165 243897 0.084 0.084
5| 145 =x< 155 2.34761 0.081 0.081
4 135 =x< 145 2.25624 0.078 0.078
3 125 =x< 135 2.16488 0.075 0.075
2| 115 =x< 125 2.07352 0.072 0.072
11 105 <*x< 115 1.98215 0.068 0.068
of 95 =x< 105 1.89079 0.065 0.065
-1l 85 =x< 95 1.79943 0.062 0.062
-2l 75 =x< 85 1.70806 0.059 0.059
-3 65 =x< 75 1.61670 0.056 0.056
-4 55 =x< 65 1.52534 0.053 0.053
-5 45 =x< 55 1.43397 0.049 0.049
-6 35 =x*x< 45 1.34261 0.046 0.046
-7 25 =x< 35 1.25125 0.043 0.043
-8 15 =x< 25 1.15989 0.040 0.040
-9 5 =x< 15 1.06852 0.037 0.037
-10 0 =x< 5 1.00000 0.034 0.034
r Fi
05 2.00000




#RIERFTR A iRg
HE%EHA MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 150
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 HEELY 5.988
EIRERRS | FHEREXRDEHH It ﬁ[@ﬁﬁﬂ%gﬁ%ﬁ fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 4.12680 12.356 12.356
9| 185 =x< 195 2.71306 8.123 8.123
8| 175 =x< 185 262170 7.849 7.849
7| 165 <x< 175 2.53033 7.576 7576
6| 155 =x< 165 243897 7.302 7.302
5| 145 =x< 155 2.34761 7.029 7.029
4 135 =x< 145 2.25624 6.755 6.755
3 125 =x< 135 2.16488 6.482 6.482
2| 115 =x< 125 2.07352 6.208 6.208
11 105 <*x< 115 1.98215 5.935 5.935
of 95 =x< 105 1.89079 5.661 5.661
-1l 85 =x< 95 1.79943 5.387 5.387
-2l 75 =x< 85 1.70806 5114 5.114
-3 65 =x< 75 1.61670 4.840 4.840
-4 55 =x< 65 1.52534 4.567 4567
-5 45 =x< 55 1.43397 4.293 4.293
-6 35 =x*x< 45 1.34261 4.020 4.020
-7 25 =x< 35 1.25125 3.746 3.746
-8 15 =x< 25 1.15989 3.473 3.473
-9 5 =*x< 15 1.06852 3.199 3.199
-10 0 =*x< 5 1.00000 2.994 2.994
r Fi
05 2.00000




ERERTIR A hRE
HEER MREREREXFES ETREALFE
iz & F1RE BROASNEEHDRE Y 15/\
HFBRIDIELE HEBERDE HFEHEFRERE (%)
4 PEELY 6.728
EIRERRE | THEEEDOHEHE Rt ﬁ[iﬁﬁﬁﬂté‘{_‘:‘ﬂ%i% ﬁﬂﬁﬁ’i[‘ﬁ%‘ﬂ
X5 (%) HFHEE (%) HFHEE (%)
10| 195 =x 4.12680 13.883 13.883
9| 185 =*x< 195 2.71306 9.127 9.127
8| 175 <*< 185 2.62170 8.819 8.819
7| 165 <x< 175 2.53033 8.512 8.512
6| 155 =*< 165 2.43897 8.205 8.205
5| 145 =*x< 155 2.34761 7.897 7.897
4] 135 =*x< 145 2.25624 7.590 7.590
3| 125 =x< 135 2.16488 7.283 7.283
2| 115 =< 125 2.07352 6.975 6.975
1| 105 =x< 115 1.98215 6.668 6.668
0f 95 =*< 105 1.89079 6.361 6.361
-1 85 =*x< 95 1.79943 6.053 6.053
-2 75 =x< 85 1.70806 5.746 5.746
-3 65 =x< 75 1.61670 5.439 5.439
-4 55 =x< 65 1.52534 5.131 5.131
-5| 45 =x< 55 1.43397 4.824 4.824
-6| 35 =x< 45 1.34261 4517 4517
-7 25 =x< 35 1.25125 4.209 4.209
-8| 15 =x< 25 1.15989 3.902 3.902
-9 5 =x< 15 1.06852 3.595 3.595
-10 0 =*x< 5 1.00000 3.364 3.364
r Fi
0.5 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS -
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 HEELY 6.960
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 4.12680 14.361 14.361
9| 185 =x< 195 2.71306 9.441 9.441
8| 175 =x< 185 262170 9.124 9.124
7| 165 <x< 175 2.53033 8.806 8.806
6| 155 =x< 165 243897 8.488 8.488
5| 145 =x< 155 2.34761 8.170 8.170
4 135 =x< 145 2.25624 7.852 7.852
3 125 =x< 135 2.16488 7.534 7.534
2| 115 =x< 125 2.07352 7.216 7.216
11 105 <*x< 115 1.98215 6.898 6.898
of 95 =x< 105 1.89079 6.580 6.580
-1l 85 =x< 95 1.79943 6.262 6.262
-2l 75 =x< 85 1.70806 5.944 5.944
-3 65 =x< 75 1.61670 5.626 5.626
-4 55 =x< 65 1.52534 5.308 5.308
-5 45 =x< 55 1.43397 4.990 4.990
-6 35 =x*x< 45 1.34261 4.672 4672
-7 25 =x< 35 1.25125 4.354 4.354
-8 15 =x< 25 1.15989 4.036 4.036
-9 5 =x< 15 1.06852 3.718 3.718
-10 0 =x< 5 1.00000 3.480 3.480
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS -
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRELF (FHFZFREGL) 0.639
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 6.85201 2.189 2.189
9| 185 =x< 195 2.73326 0.873 0.873
8| 175 =x< 185 2.64082 0.844 0.844
7| 165 =x< 175 2.54838 0.814 0.814
6| 155 =x< 165 2.45594 0.785 0.785
5| 145 =x< 155 2.36350 0.755 0.755
4 135 =x< 145 2.27106 0.726 0.726
3l 125 <x< 135 2.17862 0.696 0.696
2| 115 =x< 125 2.08618 0.667 0.667
1] 105 =< 115 1.99374 0.637 0.637
of 95 =x< 105 1.90130 0.607 0.607
-1l 85 =x< 95 1.80886 0.578 0.578
-2l 75 =x< 85 1.71642 0.548 0.548
-3 65 =x< 75 1.62398 0.519 0.519
-4 55 =x< 65 1.53153 0.489 0.489
-5 45 =x< 55 1.43909 0.460 0.460
-6 35 =x*x< 45 1.34665 0.430 0.430
-7 25 =x< 35 1.25421 0.401 0.401
-8 15 =x< 25 1.16177 0.371 0.371
-9 5 =x< 15 1.06933 0.342 0.342
-10 0 =x< 5 1.00000 0.319 0.319
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 154
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRELF (FHFZFREGL) 0.069
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 6.85201 0.236 0.236
9| 185 =x< 195 2.73326 0.094 0.094
8| 175 =x< 185 2.64082 0.091 0.091
7| 165 =x< 175 2.54838 0.088 0.088
6| 155 =x< 165 2.45594 0.085 0.085
5| 145 =x< 155 2.36350 0.082 0.082
4 135 =x< 145 2.27106 0.078 0.078
3l 125 <x< 135 2.17862 0.075 0.075
2| 115 =x< 125 2.08618 0.072 0.072
1] 105 =< 115 1.99374 0.069 0.069
of 95 =x< 105 1.90130 0.066 0.066
-1l 85 =x< 95 1.80886 0.062 0.062
-2l 75 =x< 85 1.71642 0.059 0.059
-3 65 =x< 75 1.62398 0.056 0.056
-4 55 =x< 65 1.53153 0.053 0.053
-5 45 =x< 55 1.43909 0.050 0.050
-6 35 =x*x< 45 1.34665 0.046 0.046
-7 25 =x< 35 1.25421 0.043 0.043
-8 15 =x< 25 1.16177 0.040 0.040
-9 5 =x< 15 1.06933 0.037 0.037
-10 0 =x< 5 1.00000 0.034 0.034
r Fi
05 2.00000




#RIERFTR A iRg
HE%EHA MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 150
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRELF (FHFZFREGL) 0.590
EIRERRS | FHEREXRDEHH It ﬁ[@ﬁﬁﬂ%gﬁ%ﬁ fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 6.85201 2.021 2.021
9| 185 =x< 195 2.73326 0.806 0.806
8| 175 =x< 185 2.64082 0.779 0.779
7| 165 =x< 175 2.54838 0.752 0.752
6| 155 =x< 165 2.45594 0.725 0.725
5| 145 =x< 155 2.36350 0.697 0.697
4 135 =x< 145 2.27106 0.670 0.670
3l 125 <x< 135 2.17862 0.643 0.643
2| 115 =x< 125 2.08618 0.615 0.615
1] 105 =< 115 1.99374 0.588 0.588
of 95 =x< 105 1.90130 0.561 0.561
-1l 85 =x< 95 1.80886 0.534 0.534
-2l 75 =x< 85 1.71642 0.506 0.506
-3 65 =x< 75 1.62398 0.479 0.479
-4 55 =x< 65 1.53153 0.452 0.452
-5 45 =x< 55 1.43909 0.425 0.425
-6 35 =x*x< 45 1.34665 0.397 0.397
-7 25 =x< 35 1.25421 0.370 0.370
-8 15 =x< 25 1.16177 0.343 0.343
-9 5 =*x< 15 1.06933 0.315 0.315
-10 0 =*x< 5 1.00000 0.295 0.295
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhig 4 F1Xi BROASNEEHDRE Y 157\
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRELF (FHFZFREGL) 0.638
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂté{_‘:‘g%i% gﬁﬂﬁﬁ’i[fafﬂu
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 6.85201 2.186 2.186
9| 185 =x< 195 2.73326 0.872 0.872
8| 175 =x< 185 2.64082 0.842 0.842
7| 165 =x< 175 2.54838 0.813 0.813
6| 155 =x< 165 2.45594 0.783 0.783
5| 145 =x< 155 2.36350 0.754 0.754
4 135 =x< 145 2.27106 0.724 0.724
3l 125 <x< 135 2.17862 0.695 0.695
2| 115 =x< 125 2.08618 0.665 0.665
1] 105 =< 115 1.99374 0.636 0.636
of 95 =x< 105 1.90130 0.607 0.607
-1l 85 =x< 95 1.80886 0.577 0.577
-2l 75 =x< 85 1.71642 0.548 0.548
-3 65 =x< 75 1.62398 0.518 0518
-4 55 =x< 65 1.53153 0.489 0.489
-5 45 =x< 55 1.43909 0.459 0.459
-6 35 =x*x< 45 1.34665 0.430 0.430
-7 25 =x< 35 1.25421 0.400 0.400
-8 15 =x< 25 1.16177 0.371 0.371
-9 5 =x< 15 1.06933 0.341 0.341
-10 0 =x< 5 1.00000 0.319 0.319
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS -
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRELF (FHERHY) 1.689
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 6.85201 5.787 5.787
9| 185 =x< 195 2.73326 2.308 2.308
8| 175 =x< 185 2.64082 2.230 2.230
7| 165 =x< 175 2.54838 2.152 2.152
6| 155 =x< 165 2.45594 2.074 2.074
5| 145 =x< 155 2.36350 1.996 1.996
4 135 =x< 145 2.27106 1918 1.918
3l 125 <x< 135 2.17862 1.840 1.840
2| 115 =x< 125 2.08618 1.762 1.762
1] 105 =< 115 1.99374 1.684 1.684
of 95 =x< 105 1.90130 1.606 1.606
-1l 85 =x< 95 1.80886 1.528 1528
-2l 75 =x< 85 1.71642 1.450 1.450
-3 65 =x< 75 1.62398 1.371 1.371
-4 55 =x< 65 1.53153 1.293 1.293
-5 45 =x< 55 1.43909 1.215 1215
-6 35 =x*x< 45 1.34665 1.137 1.137
-7 25 =x< 35 1.25421 1.059 1.059
-8 15 =x< 25 1.16177 0.981 0.981
-9 5 =x< 15 1.06933 0.903 0.903
-10 0 =x< 5 1.00000 0.844 0.844
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 154
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRELF (FHERHY) 0.069
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 6.85201 0.236 0.236
9| 185 =x< 195 2.73326 0.094 0.094
8| 175 =x< 185 2.64082 0.091 0.091
7| 165 =x< 175 2.54838 0.088 0.088
6| 155 =x< 165 2.45594 0.085 0.085
5| 145 =x< 155 2.36350 0.082 0.082
4 135 =x< 145 2.27106 0.078 0.078
3l 125 <x< 135 2.17862 0.075 0.075
2| 115 =x< 125 2.08618 0.072 0.072
1] 105 =< 115 1.99374 0.069 0.069
of 95 =x< 105 1.90130 0.066 0.066
-1l 85 =x< 95 1.80886 0.062 0.062
-2l 75 =x< 85 1.71642 0.059 0.059
-3 65 =x< 75 1.62398 0.056 0.056
-4 55 =x< 65 1.53153 0.053 0.053
-5 45 =x< 55 1.43909 0.050 0.050
-6 35 =x*x< 45 1.34665 0.046 0.046
-7 25 =x< 35 1.25421 0.043 0.043
-8 15 =x< 25 1.16177 0.040 0.040
-9 5 =x< 15 1.06933 0.037 0.037
-10 0 =x< 5 1.00000 0.034 0.034
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 150
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRELF (FHERHY) 1.630
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 6.85201 5.584 5.584
9| 185 =x< 195 2.73326 2.228 2.228
8| 175 =x< 185 2.64082 2.152 2.152
7| 165 =x< 175 2.54838 2.077 2,077
6| 155 =x< 165 2.45594 2.002 2.002
5| 145 =x< 155 2.36350 1.926 1.926
4 135 =x< 145 2.27106 1.851 1.851
3l 125 <x< 135 2.17862 1.776 1.776
2| 115 =x< 125 2.08618 1.700 1.700
1] 105 =< 115 1.99374 1.625 1.625
of 95 =x< 105 1.90130 1.550 1.550
-1l 85 =x< 95 1.80886 1.474 1.474
-2l 75 =x< 85 1.71642 1.399 1.399
-3 65 =x< 75 1.62398 1.324 1.324
-4 55 =x< 65 1.53153 1.248 1.248
-5 45 =x< 55 1.43909 1.173 1.173
-6 35 =x*x< 45 1.34665 1.098 1.098
-7 25 =x< 35 1.25421 1.022 1.022
-8 15 =x< 25 1.16177 0.947 0.947
-9 5 =x< 15 1.06933 0.872 0.872
-10 0 =x< 5 1.00000 0.815 0.815
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhig 4 F1Xi BROASNEEHDRE Y 157\
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRELF (FHERHY) 1.688
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂté{_‘:‘g%i% gﬁﬂﬁﬁ’i[fafﬂu
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 6.85201 5.783 5.783
9| 185 =x< 195 2.73326 2.307 2.307
8| 175 =x< 185 2.64082 2.229 2.229
7| 165 =x< 175 2.54838 2.151 2.151
6| 155 =x< 165 2.45594 2.073 2,073
5| 145 =x< 155 2.36350 1.995 1.995
4 135 =x< 145 2.27106 1.917 1.917
3l 125 <x< 135 2.17862 1.839 1.839
2| 115 =x< 125 2.08618 1.761 1.761
1] 105 =< 115 1.99374 1.683 1.683
of 95 =x< 105 1.90130 1.605 1.605
-1l 85 =x< 95 1.80886 1.527 1527
-2l 75 =x< 85 1.71642 1.449 1.449
-3 65 =x< 75 1.62398 1.371 1.371
-4 55 =x< 65 1.53153 1.293 1.293
-5 45 =x< 55 1.43909 1.215 1215
-6 35 =x*x< 45 1.34665 1.137 1.137
-7 25 =x< 35 1.25421 1.059 1.059
-8 15 =x< 25 1.16177 0.981 0.981
-9 5 =x< 15 1.06933 0.903 0.903
-10 0 =x< 5 1.00000 0.844 0.844
r Fi
05 2.00000




#RIERFTR A iRg
HE%EHA MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS -
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 FIERE 4 1.631
EIRERRS | FHEREXRDEHH It ﬁﬁﬁﬁﬁﬁ%gﬁ%ﬁ fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 4.77443 3.894 3.894
9| 185 =x< 195 2.60289 2.123 2.123
8| 175 =x< 185 2.51740 2.053 2.053
7| 165 =x< 175 243192 1.983 1.983
6| 155 =x< 165 2.34643 1914 1914
5| 145 <x< 155 2.26094 1.844 1.844
4 135 =x< 145 2.17545 1.774 1.774
3 125 =x< 135 2.08997 1.704 1.704
2 115 =x< 125 2.00448 1.635 1.635
11 105 <*x< 115 1.91899 1.565 1.565
of 95 =x< 105 1.83350 1.495 1.495
-1l 85 =x< 95 1.74802 1.426 1.426
-2l 75 =x< 85 1.66253 1.356 1.356
-3 65 =x< 75 1.57704 1.286 1.286
-4 55 =x< 65 1.49155 1.216 1216
-5 45 =x< 55 1.40607 1.147 1.147
-6 35 =x*x< 45 1.32058 1.077 1.077
-7 25 =x< 35 1.23509 1.007 1.007
-8 15 =x< 25 1.14960 0.937 0.937
-9 5 =*x< 15 1.06412 0.868 0.868
-10 0 =*x< 5 1.00000 0.815 0.815
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 254
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 FIERE 4 0.069
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 4.77443 0.165 0.165
9| 185 =x< 195 2.60289 0.090 0.090
8| 175 =x< 185 2.51740 0.087 0.087
7| 165 =x< 175 243192 0.084 0.084
6| 155 =x< 165 2.34643 0.081 0.081
5| 145 =x< 155 2.26094 0.078 0.078
4 135 =x< 145 2.17545 0.075 0.075
3l 125 <x< 135 2.08997 0.072 0.072
2 115 =x< 125 2.00448 0.069 0.069
11 105 <*x< 115 1.91899 0.066 0.066
of 95 =x< 105 1.83350 0.063 0.063
-1l 85 =x< 95 1.74802 0.060 0.060
-2l 75 =x< 85 1.66253 0.057 0.057
-3 65 =x< 75 1.57704 0.054 0.054
-4 55 =x< 65 1.49155 0.051 0.051
-5 45 =x< 55 1.40607 0.049 0.049
-6 35 =x*x< 45 1.32058 0.046 0.046
-7 25 =x< 35 1.23509 0.043 0.043
-8 15 =x< 25 1.14960 0.040 0.040
-9 5 =x< 15 1.06412 0.037 0.037
-10 0 =x< 5 1.00000 0.034 0.034
r Fi
05 2.00000




ERERTIR A hRE
HEER MREREREXFES ETREALFE
iz & F1RE BROASNEEHDRE Y 28/
HFBRIDIELE HEBERDE HFEHEFRERE (%)
&+ 50 At 4 1.454
EIRERRE | THEEEDOHEHE Rt ﬁ[iﬁﬁﬁﬂté‘{_‘:‘ﬂ%i% ﬁﬂﬁﬁ’i[‘ﬁ%‘ﬂ
X5 (%) HFHEE (%) HFHEE (%)
10| 195 =x 4.77443 3.471 3.471
9| 185 =*x< 195 2.60289 1.892 1.892
8| 175 =*x< 185 2.51740 1.830 1.830
7| 165 =*x< 175 2.43192 1.768 1.768
6| 155 =*< 165 2.34643 1.706 1.706
5| 145 <*x< 155 2.26094 1.644 1.644
4] 135 =*x< 145 2.17545 1.582 1.582
3| 125 <*x< 135 2.08997 1519 1519
2| 115 =*x< 125 2.00448 1.457 1.457
1| 105 =x< 115 1.91899 1.395 1.395
0f 95 =*< 105 1.83350 1.333 1.333
-1 85 =*x< 95 1.74802 1.271 1.271
-2 75 =x< 85 1.66253 1.209 1.209
-3 65 =x< 75 1.57704 1.147 1.147
-4 55 =x< 65 1.49155 1.084 1.084
-5| 45 =x< 55 1.40607 1.022 1.022
-6| 35 =x< 45 1.32058 0.960 0.960
-7 25 =x< 35 1.23509 0.898 0.898
-8| 15 =x< 25 1.14960 0.836 0.836
-9 5 =x< 15 1.06412 0.774 0.774
-10 0 =*x< 5 1.00000 0.727 0.727
r Fi
0.5 2.00000




#RIERFTR A iRg
HE%EHA MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 280
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 FIERE 4 1516
EIRERRS | FHEREXRDEHH It ﬁﬁﬁﬁﬁﬁ%gﬁ%ﬁ fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 4.77443 3.619 3619
9| 185 =x< 195 2.60289 1.973 1.973
8| 175 =x< 185 2.51740 1.908 1.908
7| 165 =x< 175 243192 1.843 1.843
6| 155 =x< 165 2.34643 1.779 1.779
5| 145 =x< 155 2.26094 1.714 1.714
4 135 =x< 145 2.17545 1.649 1.649
3 125 =x< 135 2.08997 1.584 1.584
2 115 =x< 125 2.00448 1519 1519
11 105 <*x< 115 1.91899 1.455 1.455
of 95 =x< 105 1.83350 1.390 1.390
-1l 85 =x< 95 1.74802 1.325 1.325
-2l 75 =x< 85 1.66253 1.260 1.260
-3 65 =x< 75 1.57704 1.195 1.195
-4 55 =x< 65 1.49155 1.131 1.131
-5 45 =x< 55 1.40607 1.066 1.066
-6 35 =x*x< 45 1.32058 1.001 1.001
-7 25 =x< 35 1.23509 0.936 0.936
-8 15 =x< 25 1.14960 0.871 0.871
-9 5 =*x< 15 1.06412 0.807 0.807
-10 0 =*x< 5 1.00000 0.758 0.758
r Fi
05 2.00000




#RIERFTR A iRg
HE%EHA MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS -
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRCBEF (FHEREL) 1.599
EIRERRS | FHEREXRDEHH It ﬁ[@ﬁﬁﬂ%gﬁ%ﬁ fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 3.61086 2.887 2.887
9| 185 =x< 195 2.74411 2.194 2.194
8| 175 =x< 185 2.65109 2.120 2.120
7| 165 <x< 175 2.55807 2.045 2.045
6| 155 =x< 165 2.46505 1.971 1.971
5| 145 =x< 155 2.37203 1.896 1.896
4 135 =x< 145 2.27901 1.822 1.822
3l 125 <x< 135 2.18600 1.748 1.748
2| 115 =x< 125 2.09298 1.673 1.673
11 105 <*x< 115 1.99996 1.599 1.599
of 95 =x< 105 1.90694 1.525 1.525
-1l 85 =x< 95 1.81392 1.450 1.450
-2l 75 =x< 85 1.72090 1.376 1.376
-3 65 =x< 75 1.62788 1.301 1.301
-4 55 =x< 65 1.53486 1.227 1.227
-5 45 =x< 55 1.44184 1.153 1.153
-6 35 =x*x< 45 1.34882 1.078 1.078
-7 25 =x< 35 1.25580 1.004 1.004
-8 15 =x< 25 1.16278 0.930 0.930
-9 5 =*x< 15 1.06976 0.855 0.855
-10 0 =*x< 5 1.00000 0.799 0.799
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 254
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRCBEF (FHEREL) 0.069
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 3.61086 0.125 0.125
9| 185 =x< 195 2.74411 0.095 0.095
8| 175 =x< 185 2.65109 0.091 0.091
7| 165 <x< 175 2.55807 0.088 0.088
6| 155 =x< 165 2.46505 0.085 0.085
5| 145 =x< 155 2.37203 0.082 0.082
4 135 =x< 145 2.27901 0.079 0.079
3l 125 <x< 135 2.18600 0.075 0.075
2| 115 =x< 125 2.09298 0.072 0.072
11 105 <*x< 115 1.99996 0.069 0.069
of 95 =x< 105 1.90694 0.066 0.066
-1l 85 =x< 95 1.81392 0.063 0.063
-2l 75 =x< 85 1.72090 0.059 0.059
-3 65 =x< 75 1.62788 0.056 0.056
-4 55 =x< 65 1.53486 0.053 0.053
-5 45 =x< 55 1.44184 0.050 0.050
-6 35 =x*x< 45 1.34882 0.047 0.047
-7 25 =x< 35 1.25580 0.043 0.043
-8 15 =x< 25 1.16278 0.040 0.040
-9 5 =x< 15 1.06976 0.037 0.037
-10 0 =x< 5 1.00000 0.034 0.034
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhig 4 F1Xi BROASNEEHDRE Y 25\
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRCBEF (FHEREL) 1.382
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂté{_‘:‘g%i% gﬁﬂﬁﬁ’i[fafﬂu
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 3.61086 2.495 2.495
9| 185 =x< 195 2.74411 1.896 1.896
8| 175 =x< 185 2.65109 1.832 1.832
7| 165 =x< 175 2.55807 1.768 1.768
6| 155 =x< 165 2.46505 1.703 1.703
5| 145 =x< 155 2.37203 1.639 1.639
4 135 =x< 145 2.27901 1.575 1575
3l 125 <x< 135 2.18600 1511 1511
2| 115 =x< 125 2.09298 1.446 1.446
11 105 <*x< 115 1.99996 1.382 1.382
of 95 =x< 105 1.90694 1318 1.318
-1l 85 =x< 95 1.81392 1.253 1.253
-2l 75 =x< 85 1.72090 1.189 1.189
-3 65 =x< 75 1.62788 1.125 1.125
-4 55 =x< 65 1.53486 1.061 1.061
-5 45 =x< 55 1.44184 0.996 0.996
-6 35 =x*x< 45 1.34882 0.932 0.932
-7 25 =x< 35 1.25580 0.868 0.868
-8 15 =x< 25 1.16278 0.803 0.803
-9 5 =x< 15 1.06976 0.739 0.739
-10 0 =x< 5 1.00000 0.691 0.691
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 2580
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRCBEF (FHEREL) 1.394
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 3.61086 2,517 2517
9| 185 =x< 195 2.74411 1913 1913
8| 175 =x< 185 2.65109 1.848 1.848
7| 165 =x< 175 2.55807 1.783 1.783
6| 155 =x< 165 2.46505 1.718 1.718
5| 145 =x< 155 2.37203 1.653 1.653
4 135 =x< 145 2.27901 1.588 1.588
3 125 =x< 135 2.18600 1.524 1524
2| 115 =x< 125 2.09298 1.459 1.459
1] 105 =< 115 1.99996 1.394 1.394
of 95 =x< 105 1.90694 1.329 1.329
-1l 85 =x< 95 1.81392 1.264 1.264
-2l 75 =x< 85 1.72090 1.199 1.199
-3 65 =x< 75 1.62788 1.135 1.135
-4 55 =x< 65 1.53486 1.070 1.070
-5 45 =x< 55 1.44184 1.005 1.005
-6 35 =x*x< 45 1.34882 0.940 0.940
-7 25 =x< 35 1.25580 0.875 0.875
-8 15 =x< 25 1.16278 0.810 0.810
-9 5 =x< 15 1.06976 0.746 0.746
-10 0 =x< 5 1.00000 0.697 0.697
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS -
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRC-BEF (FHERHY) 2.300
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 3.61086 4.152 4.152
9| 185 =x< 195 2.74411 3.156 3.156
8| 175 =x< 185 2.65109 3.049 3.049
7| 165 <x< 175 2.55807 2.942 2.942
6| 155 =x< 165 2.46505 2.835 2.835
5| 145 =x< 155 2.37203 2.728 2.728
4 135 =x< 145 2.27901 2.621 2.621
3 125 =x< 135 2.18600 2.514 2514
2| 115 =x< 125 2.09298 2.407 2.407
11 105 <*x< 115 1.99996 2.300 2.300
of 95 =x< 105 1.90694 2.193 2.193
-1l 85 =x< 95 1.81392 2.086 2.086
-2l 75 =x< 85 1.72090 1.979 1.979
-3 65 =x< 75 1.62788 1.872 1.872
-4 55 =x< 65 1.53486 1.765 1.765
-5 45 =x< 55 1.44184 1.658 1.658
-6 35 =x*x< 45 1.34882 1.551 1.551
-7 25 =x< 35 1.25580 1.444 1.444
-8 15 =x< 25 1.16278 1.337 1.337
-9 5 =x< 15 1.06976 1.230 1.230
-10 0 =x< 5 1.00000 1.150 1.150
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 254
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRC-BEF (FHERHY) 0.069
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 3.61086 0.125 0.125
9| 185 =x< 195 2.74411 0.095 0.095
8| 175 =x< 185 2.65109 0.091 0.091
7| 165 <x< 175 2.55807 0.088 0.088
6| 155 =x< 165 2.46505 0.085 0.085
5| 145 =x< 155 2.37203 0.082 0.082
4 135 =x< 145 2.27901 0.079 0.079
3l 125 <x< 135 2.18600 0.075 0.075
2| 115 =x< 125 2.09298 0.072 0.072
11 105 <*x< 115 1.99996 0.069 0.069
of 95 =x< 105 1.90694 0.066 0.066
-1l 85 =x< 95 1.81392 0.063 0.063
-2l 75 =x< 85 1.72090 0.059 0.059
-3 65 =x< 75 1.62788 0.056 0.056
-4 55 =x< 65 1.53486 0.053 0.053
-5 45 =x< 55 1.44184 0.050 0.050
-6 35 =x*x< 45 1.34882 0.047 0.047
-7 25 =x< 35 1.25580 0.043 0.043
-8 15 =x< 25 1.16278 0.040 0.040
-9 5 =x< 15 1.06976 0.037 0.037
-10 0 =x< 5 1.00000 0.034 0.034
r Fi
05 2.00000




ERERTIR A hRE
HEER MREREREXFES ETREALFE
iz & F1RE BROASNEEHDRE Y 28/
HFBRIDIELE HEBERDE HFEHEFRERE (%)
4 BRCIEESF (F4HRRHY) 2.097
EIRERRE | THEEEDOHEHE Rt ﬁ[iﬁﬁﬁﬂté‘{_‘:‘ﬂ%i% ﬁﬂﬁﬁ’i[‘ﬁ%‘ﬂ
X5 (%) HFHEE (%) HFHEE (%)
10| 195 =x 3.61086 3.786 3.786
9| 185 =*x< 195 2.74411 2.877 2.877
8| 175 <*< 185 2.65109 2.780 2.780
7| 165 <x< 175 2.55807 2.682 2.682
6| 155 =*< 165 2.46505 2.585 2.585
5| 145 =*x< 155 2.37203 2.487 2.487
4] 135 =*x< 145 2.27901 2.390 2.390
3| 125 <*x< 135 2.18600 2.292 2.292
2| 115 =*x< 125 2.09298 2.194 2.194
1| 105 =x< 115 1.99996 2.097 2.097
0f 95 =*< 105 1.90694 1.999 1.999
-1 85 =*x< 95 1.81392 1.902 1.902
-2 75 =x< 85 1.72090 1.804 1.804
-3 65 =x< 75 1.62788 1.707 1.707
-4 55 =x< 65 1.53486 1.609 1.609
-5| 45 =x< 55 1.44184 1512 1512
-6| 35 =x< 45 1.34882 1.414 1.414
-7 25 =x< 35 1.25580 1.317 1.317
-8| 15 =x< 25 1.16278 1.219 1.219
-9 5 =x< 15 1.06976 1.122 1.122
-10 0 =*x< 5 1.00000 1.048 1.048
r Fi
0.5 2.00000




#RIERFTR A iRg
HE%EHA MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 2580
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 BRC-BEF (FHERHY) 2.107
EIRERRS | FHEREXRDEHH It ﬁ[@ﬁﬁﬂ%gﬁ%ﬁ fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 3.61086 3.804 3.804
9| 185 =x< 195 2.74411 2.891 2.891
8| 175 =x< 185 2.65109 2.793 2.793
7| 165 <x< 175 2.55807 2.695 2.695
6| 155 =x< 165 2.46505 2.597 2.597
5| 145 =x< 155 2.37203 2.499 2.499
4 135 =x< 145 2.27901 2.401 2.401
3l 125 <x< 135 2.18600 2.303 2.303
2| 115 =x< 125 2.09298 2.205 2.205
11 105 <*x< 115 1.99996 2.107 2.107
of 95 =x< 105 1.90694 2.009 2.009
-1l 85 =x< 95 1.81392 1.911 1.911
-2l 75 =x< 85 1.72090 1.813 1.813
-3 65 =x< 75 1.62788 1.715 1.715
-4 55 =x< 65 1.53486 1.617 1617
-5 45 =x< 55 1.44184 1519 1519
-6 35 =x*x< 45 1.34882 1.421 1.421
-7 25 =x< 35 1.25580 1.323 1.323
-8 15 =x< 25 1.16278 1.225 1.225
-9 5 =*x< 15 1.06976 1.127 1.127
-10 0 =*x< 5 1.00000 1.053 1.053
r Fi
05 2.00000




#RIERFTR A iRg
HE%EHA MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS -
HEBHDIELE HEBHERXNE HEREIFREE (%)
23 FIERMES 2.870
EIRERRS | FHEREXRDEHH It ﬁ[@ﬁﬁﬂ%gﬁ%ﬁ fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 3.02564 4.342 4.342
9| 185 =x< 195 2.92308 4.195 4.195
8| 175 =x< 185 2.82051 4.047 4.047
7| 165 <x< 175 2.71795 3.900 3.900
6| 155 <*x< 165 261538 3.753 3.753
5| 145 =x< 155 2.51282 3.606 3.606
4 135 =x< 145 2.41026 3.459 3.459
3l 125 <x< 135 2.30769 3.312 3.312
2 115 =x< 125 2.20513 3.164 3.164
11 105 <*x< 115 2.10256 3.017 3.017
of 95 =x< 105 2.00000 2.870 2.870
-1l 85 =x< 95 1.89744 2.723 2.723
-2l 75 =x< 85 1.79487 2.576 2576
-3 65 =x< 75 1.69231 2.428 2.428
-4 55 =x< 65 1.58974 2.281 2.281
-5 45 =x< 55 1.48718 2.134 2.134
-6 35 =x*x< 45 1.38462 1.987 1.987
-7 25 =x< 35 1.28205 1.840 1.840
-8 15 =x< 25 1.17949 1.693 1.693
-9 5 =*x< 15 1.07692 1.545 1.545
-10 0 =*x< 5 1.00000 1.435 1.435
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 35
HEBHDIELE HEBHERXNE HEREIFREE (%)
23 FIERMES 0.069
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 3.02564 0.104 0.104
9| 185 =x< 195 2.92308 0.101 0.101
8| 175 =x< 185 2.82051 0.097 0.097
7| 165 =x< 175 2.71795 0.094 0.094
6| 155 <*x< 165 261538 0.090 0.090
5| 145 =x< 155 2.51282 0.087 0.087
4 135 =x< 145 2.41026 0.083 0.083
3l 125 <x< 135 2.30769 0.080 0.080
2| 115 =x< 125 2.20513 0.076 0.076
11 105 <*x< 115 2.10256 0.073 0.073
of 95 =x< 105 2.00000 0.069 0.069
-1l 85 =x< 95 1.89744 0.065 0.065
-2l 75 =x< 85 1.79487 0.062 0.062
-3 65 =x< 75 1.69231 0.058 0.058
-4 55 =x< 65 1.58974 0.055 0.055
-5 45 =x< 55 1.48718 0.051 0.051
-6 35 =x*x< 45 1.38462 0.048 0.048
-7 25 =x< 35 1.28205 0.044 0.044
-8 15 =x< 25 1.17949 0.041 0.041
-9 5 =x< 15 1.07692 0.037 0.037
-10 0 =x< 5 1.00000 0.034 0.034
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS -
HEBHDIELE HEBHERXNE HEREIFREE (%)
23 BR-BEEE 1.888
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 3.02564 2.856 2.856
9| 185 =x< 195 2.92308 2.759 2.759
8| 175 =x< 185 2.82051 2.663 2.663
7| 165 <x< 175 2.71795 2.566 2.566
6| 155 <*x< 165 261538 2.469 2.469
5| 145 =x< 155 2.51282 2.372 2.372
4 135 =x< 145 2.41026 2.275 2.275
3l 125 <x< 135 2.30769 2.178 2.178
2| 115 =x< 125 2.20513 2.082 2.082
11 105 <*x< 115 2.10256 1.985 1.985
of 95 =x< 105 2.00000 1.888 1.888
-1l 85 =x< 95 1.89744 1.791 1.791
-2l 75 =x< 85 1.79487 1.694 1.694
-3 65 =x< 75 1.69231 1.598 1.598
-4 55 =x< 65 1.58974 1.501 1.501
-5 45 =x< 55 1.48718 1.404 1.404
-6 35 =x*x< 45 1.38462 1.307 1.307
-7 25 =x< 35 1.28205 1.210 1.210
-8 15 =x< 25 1.17949 1.113 1.113
-9 5 =x< 15 1.07692 1.017 1.017
-10 0 =x< 5 1.00000 0.944 0.944
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 35
HEBHDIELE HEBHERXNE HEREIFREE (%)
23 BR-BEEE 0.069
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 3.02564 0.104 0.104
9| 185 =x< 195 2.92308 0.101 0.101
8| 175 =x< 185 2.82051 0.097 0.097
7| 165 =x< 175 2.71795 0.094 0.094
6| 155 <*x< 165 261538 0.090 0.090
5| 145 =x< 155 2.51282 0.087 0.087
4 135 =x< 145 2.41026 0.083 0.083
3l 125 <x< 135 2.30769 0.080 0.080
2| 115 =x< 125 2.20513 0.076 0.076
11 105 <*x< 115 2.10256 0.073 0.073
of 95 =x< 105 2.00000 0.069 0.069
-1l 85 =x< 95 1.89744 0.065 0.065
-2l 75 =x< 85 1.79487 0.062 0.062
-3 65 =x< 75 1.69231 0.058 0.058
-4 55 =x< 65 1.58974 0.055 0.055
-5 45 =x< 55 1.48718 0.051 0.051
-6 35 =x*x< 45 1.38462 0.048 0.048
-7 25 =x< 35 1.28205 0.044 0.044
-8 15 =x< 25 1.17949 0.041 0.041
-9 5 =x< 15 1.07692 0.037 0.037
-10 0 =x< 5 1.00000 0.034 0.034
r Fi
05 2.00000




HRIEFFIR % #imR
HeaFH MRRERAFES SETREALHE
Hh ik % E1RX BROASNEIFEHRDES -
HEBIDESE HEHERNF HEHEIRER (%)
73 B 4.653
IR | FHREEOEE | ooy iR 2 fERR B Al
X5 (%) HEHEE (%) HEHEE (%)
10[ 195 =x* 47.78626 100.000 100.000
9] 185 =x< 195 4541734 100.000 100.000
8] 175 =x< 185 43.04841 100.000 100.000
71 165 =x< 175 40.67949 94.641 94.641
6] 155 =x< 165 38.31056 89.130 89.130
5| 145 =x< 155 35.94164 83.618 83.618
4] 135 =x< 145 33.57271 78.107 78.107
3| 125 =x< 135 31.20379 72.596 72.596
2l 115 =x< 125 28.83486 67.084 67.084
1 105 =*< 115 26.46594 61.573 61.573
0 95 =x*< 105 24.09701 96.062 56.062
-1 85 =x*x< 95 21.72809 50.550 50.550
-2 75 =*< 85 19.35917 45.039 45.039
-3 65 =*< 75 16.99024 39.528 39.528
-4 55 =x< 65 14.62132 34.017 34.017
-9 45 =x< 55 12.25239 28.505 28.505
-6 35 =x< 45 9.88347 22.994 22.994
=7 25 =x< 35 7.51454 17.483 17.483
-8 15 =x< 25 5.14562 11.971 11.971
-9 5 =x< 15 2.77669 6.460 6.460
-10 0 =x< 5 1.00000 2.326 2.326
r Fi
0.5 2.00000




HRIEFFIR % #imR
HeaFH MRRERAFES SETREALHE
Hh ik % E1RX BROASNEIFEHRDES 454
HEBIDESE HEHERNF HEHEIRER (%)
73 B 0.047
IR | FHREEOEE | ooy iR 2 fERR B Al
X5 (%) HEHEE (%) HEHEE (%)
10[ 195 =x* 47.78626 1.123 1.123
9] 185 =x< 195 45.41734 1.067 1.067
8] 175 =x< 185 43.04841 1.012 1.012
71 165 =x< 175 40.67949 0.956 0.956
6] 155 =x< 165 38.31056 0.900 0.900
5| 145 =x< 155 35.94164 0.845 0.845
4] 135 =x< 145 33.57271 0.789 0.789
3| 125 =x< 135 31.20379 0.733 0.733
2l 115 =x< 125 28.83486 0.678 0.678
1 105 =*< 115 26.46594 0.622 0.622
0 95 =x*< 105 24.09701 0.566 0.566
-1 85 =x*< 95 21.72809 0.511 0.511
-2 75 =*< 85 19.35917 0.455 0.455
-3 65 =*< 75 16.99024 0.399 0.399
-4 55 =*< 65 14.62132 0.344 0.344
-9 45 =x< 55 12.25239 0.288 0.288
-6 35 =x< 45 9.88347 0.232 0.232
=7 25 =x< 35 7.51454 0.177 0.177
-8 15 =x< 25 5.14562 0.121 0.121
-9 5 =x< 15 2.77669 0.065 0.065
-10 0 =x< 5 1.00000 0.023 0.023
r Fi
0.5 2.00000




HRIEFFIR % #imR
HeaFH MRRERAFES SETREALHE
Hh ik % E1RX BROASNEIFEHRDES 450
HEBIDESE HEHERNF HEHEIRER (%)
73 K 4.364
IR | FHREEOEE | ooy iR 2 fERR B Al
X5 (%) HEHEE (%) HEHEE (%)
10[ 195 =x* 47.78626 100.000 100.000
9] 185 =x< 195 45.41734 99.101 99.101
8| 175 =x< 185 43.04841 93.932 93.932
71 165 =x< 175 40.67949 88.763 88.763
6] 155 =x< 165 38.31056 83.994 83.594
5| 145 =x< 155 35.94164 78.425 78.425
4] 135 =x< 145 33.57271 73.256 73.256
3| 125 =x< 135 31.20379 68.087 68.087
2l 115 =x< 125 28.83486 62.918 62.918
1 105 =x< 115 26.46594 97.749 57.749
0 95 =x*< 105 24.09701 92.580 52.580
-1 85 =x*x< 95 21.72809 47.411 47.411
-2 75 =*< 85 19.35917 42.242 42.242
-3 65 =*< 75 16.99024 37.073 37.073
-4 55 =x< 65 14.62132 31.904 31.904
-9 45 =x< 55 12.25239 26.735 26.735
-6 35 =x< 45 9.88347 21.566 21.566
=7 25 =x< 35 7.51454 16.397 16.397
-8 15 =x< 25 5.14562 11.228 11.228
-9 5 =x< 15 2.77669 6.059 6.059
-10 0 =x< 5 1.00000 2.182 2.182
r Fi
0.5 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS -
HEBHDIELE HEBHERXNE HEREIFREE (%)
73 HEMREK 9.318
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 5.42565 25.278 25278
9| 185 =x< 195 5.20157 24.234 24.234
8| 175 =x< 185 497748 23.190 23.190
7| 165 =x< 175 4.75340 22.146 22.146
6| 155 =x< 165 452932 21.102 21.102
5| 145 =x< 155 4.30523 20.058 20.058
4 135 =x< 145 408115 19.014 19.014
3 125 =x< 135 3.85707 17.970 17.970
2 115 =x< 125 3.63298 16.926 16.926
1] 105 =< 115 3.40890 15.882 15.882
of 95 =x< 105 3.18481 14.838 14.838
-1l 85 =x< 95 2.96073 13.794 13.794
-2l 75 =x< 85 2.73665 12.750 12.750
-3 65 =x< 75 2.51256 11.706 11.706
-4 55 =x< 65 2.28848 10.662 10.662
-5 45 =x< 55 2.06440 9.618 9618
-6 35 =x*x< 45 1.84031 8.574 8.574
-7 25 =x< 35 1.61623 7.530 7.530
-8 15 =x< 25 1.39215 6.486 6.486
-9 5 =x< 15 1.16806 5.442 5.442
-10 0 =x< 5 1.00000 4.659 4659
r Fi
05 2.00000




#RIERFTR A iRg
HE%EHA MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS -
HEBHDIELE HEBHERXNE HEREIFREE (%)
4 RIFRMETERE S 5.679
EIRERRS | FHEREXRDEHH It ﬁﬁﬁﬁﬁﬁ%gﬁ%ﬁ fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 2.00000 5.679 5679
9| 185 =x< 195 1.30617 3.709 3.709
8| 175 =x< 185 1.28984 3.663 3.663
7| 165 <x< 175 1.27351 3.616 3616
6| 155 <*x< 165 1.25718 3.570 3.570
5| 145 =x< 155 1.24085 3.523 3.523
4 135 =x< 145 1.22452 3.477 3.477
3l 125 <x< 135 1.20819 3.431 3.431
2 115 =x< 125 1.19187 3.384 3.384
1] 105 =< 115 1.17554 3.338 3.338
of 95 =x< 105 1.15921 3.292 3.292
-1l 85 =x< 95 1.14288 3.245 3.245
-2l 75 =x< 85 1.12655 3.199 3.199
-3 65 =x< 75 1.11022 3.152 3.152
-4 55 =x< 65 1.09389 3.106 3.106
-5 45 =x< 55 1.07756 3.060 3.060
-6 35 =x*x< 45 1.06123 3.013 3013
-7 25 =x< 35 1.04490 2.967 2.967
-8 15 =x< 25 1.02858 2.921 2.921
-9 5 =*x< 15 1.01225 2.874 2.874
-10 0 =*x< 5 1.00000 2.839 2.839
r Fi
05 2.00000




#RIERFTR A iRg
HE%E4 MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS -
HEBHDIELE HEBHERXNE HEREIFREE (%)
73 HE R 21.598
EIRERRS | FHEREXRDEHH It ﬁ[iﬁﬁﬁﬂtégg%i% fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 5.42565 58.592 58.592
9| 185 =x< 195 5.20157 56.172 56.172
8| 175 =x< 185 497748 53.752 53.752
7| 165 =x< 175 4.75340 51.332 51.332
6| 155 =x< 165 452932 48.912 48.912
5| 145 <x< 155 4.30523 46.492 46.492
4 135 =x< 145 408115 44.072 44,072
3 125 =x< 135 3.85707 41.652 41.652
2 115 =x< 125 3.63298 39.233 39.233
1] 105 =< 115 3.40890 36.813 36.813
of 95 =x< 105 3.18481 34.393 34.393
-1l 85 =x< 95 2.96073 31.973 31.973
-2l 75 =x< 85 2.73665 29.553 29.553
-3 65 =x< 75 2.51256 27.133 27.133
-4 55 =x< 65 2.28848 24.713 24713
-5 45 =x< 55 2.06440 22.293 22.293
-6 35 =x*x< 45 1.84031 19.874 19.874
-7 25 =x< 35 1.61623 17.454 17.454
-8 15 =x< 25 1.39215 15.034 15.034
-9 5 =x< 15 1.16806 12.614 12.614
-10 0 =x< 5 1.00000 10.799 10.799
r Fi
05 2.00000




#RIERFTR A iRg
HE%EHA MREREREXFES RTREARFE
Hhigt £ E1R RIS DEHORS 5%
HEBHDIELE HEBHERXNE HEREIFREE (%)
73 HE R 0.078
EIRERRS | FHEREXRDEHH It ﬁ[@ﬁﬁﬂ%gﬁ%ﬁ fE IR
X5 (%) HEBEE (%) HEBEE (%)
10[ 195 =x 5.42565 0.212 0.212
9| 185 =x< 195 5.20157 0.203 0.203
8| 175 =x< 185 497748 0.194 0.194
7| 165 =x< 175 4.75340 0.185 0.185
6| 155 =x< 165 452932 0.177 0.177
5| 145 =x< 155 4.30523 0.168 0.168
4 135 =x< 145 408115 0.159 0.159
3l 125 <x< 135 3.85707 0.150 0.150
2| 115 =x< 125 3.63298 0.142 0.142
1] 105 =< 115 3.40890 0.133 0.133
of 95 =x< 105 3.18481 0.124 0.124
-1l 85 =x< 95 2.96073 0.115 0.115
-2l 75 =x< 85 2.73665 0.107 0.107
-3 65 =x< 75 2.51256 0.098 0.098
-4 55 =x< 65 2.28848 0.089 0.089
-5 45 =x< 55 2.06440 0.081 0.081
-6 35 =x*x< 45 1.84031 0.072 0.072
-7 25 =x< 35 1.61623 0.063 0.063
-8 15 =x< 25 1.39215 0.054 0.054
-9 5 =*x< 15 1.16806 0.046 0.046
-10 0 =*x< 5 1.00000 0.039 0.039
r Fi
05 2.00000




